Z' TOA Instruction Manual

HORN MOUNTING BRACKET HY-M94

* BARBORIERHBAZBRIETmASA A0,

B General Description

The HY-M94 horn mounting bracket is designed exclusively for mounting the TOA LE-M94 constant
directivity horn onto the low frequency, vented (bass-reflex) enclosure SB-38W, SB-38S, SB-30W or
SB-30S when the standard speaker system (GS-386W, GS-382S, GS-302W or GS-302S) is configured.

Ml Parts List
BracketNo. 1 1
Bracket No. 2 2 0
Bracket No. 3 2 000
0
Bracket No.1
o

Supplied Accessories : h
(@)

. Hex. bolt (M8 x 20)
. Hex. bolt (M8 x 30) Q

Bracket No.2 .
0.3

. Hex. bolt (M6 x 25)
Figure 1

. Hex. nut (M8)

. Flat washer (W8)
. Flat washer (W6)
. Spring lock washer (SW8) 6 Bracket N
. Spring lock washer (SW6) 4

O~NOoO U WNE
»ONDMBAN

B Handling Precautions

® The HY-M94 is designed exclusively for system configuration of the standard speaker system (GS-
386W, GS-382S, GS-302W or GS-302S), and do not use for other than this application.

® TOA takes no responsibility for accidents or injuries caused by faulty mounting methods or poorly selected
mounting locations.



M Installation

1. Referring to Figure 2, securely mount the horn using the parts supplied with the bracket set.

2. Anchor nuts have been pre-installed in the enclosure's mounting holes to permit attachment from the
outside.

Hex. nut (M8)
w8

| «———————— Bracket No.1

%\%./ Hex. bolt (M8 x 20)

SW8. w8

Hex. bolt (M8 x 30)
SW8, w8

Bracket No.3

h/ ok Hex. bolt (M6 x 25)
H SW6. W6
Bracket No.2

Figure 2

l Horn Mounting Angle Adjustment
As shown in Figure 3, the horn mounting angle can be adjusted 10° up or down from horizontal in 5° steps.
This mounting example shows that the horn mounting angle is adjusted 5° down from horizontal.

Figure 3

z—‘ TOA Corporation

o KOBE, JAPAN
fOA

133-01-335-50



zd TOA RS

O 4y D O | HY-M94

* Please see the reverse side for English manual.

W=

HY-M34(IBER E— 12 X7 LGS-386W, GS-382S, GS-302W. GS-3025%#m T 2HE 0. EIEEMR— > LE-M34%
EAT Y 70— vSB-38W. SB-38S. SB-30W. SB-30SICEUTIF 570N KR—> VIV FEETT,

INREES SW8
INF R SW6

W45 RL BB
]
000
0
K\
00
0
(@]
A
575 %%
REBLEMEX20 2
RARILEMEX0 4
NARIL EMEX 25 4 e
>k ME 2
Thg we 8 Q en
TES W 282 A
4

HERLDEER

O DKR—rVTU Y FEREIEEIC—N T AT LGS-386W, GS-382S. GS-302W. GS-302S%MMT 2 HEDIIRE 1
DTVWETOT, XORMLANTEAT 5 2 S IHHEMIC L ANT &,
OXEBH. WEAZNOTMEIZL 2EFTEOEHOEME, —IHHEAVELA,




W E A ik

1, HIZRTEDICR—VEREICETEL TLEE W,
2. RPHEIEBUIMBERLOEFEAL T EN,
3. T /70— vOBRAMRIZIERAINS Sy FHEDAFINTOETOT, SMIHISEET RN TEET,

Q“

o) I~

+ v hM8 W8

.-./ E 4 &8
S
E‘\"N‘/ﬁ%l‘ﬁw M8 % 20

SW8. w8

AAEFIL FM8X 30
SW8. w8

RARIL FMEX25

SW6, W6 KA PMEX25

SWo. W6

BFR—CBAAEDRE

OR—DNEEB I ANODBRMUEICLY, K—rOLETHA@AELAZICNSTEEIFETE ATy 7 THRETEET,
HasEICBREL TILZEW,

TEE S DERMB]

ERCEM Y FEEMAYICEALEY, |T66 EENEMEI2EH 15

EHR 9:00~17:00( BB e 9r8712:738¢

TO A TOAHAEH TOAAYTAA—YasBTE— [t

N\

AMBER TEL(OID231-46411% KRB EEH TEL(0262)26-36281% & REE M TEL(0762)33-19511% X IR B 3y TEL(06) 358-11411%  ERSEMAT TEL(0992)56-5245(%
EHTEA TEL(0I77)23-37511%  FBEE AR TEL(025)246-23166F B B B AT TEL(0582)76-14011%  KIRMBEZH TEL(08) 358-11471¢ BB E E A TEL(0988)66-5598(%
BEE A TEL(DI96)56-521118  Fmek sk 5 TEL(0472)556111/4 @ BEEEER TEL(052)971-B2I 14  toiiLi T Toooooiscettececo atioolt SRR b
4 ERR TEL(02)236-6551 +mm sy TELEO‘,B)GSS_MH{ ZEEBR TEL(052)962-5721 ¢ [15‘_ L i '3; gtgggggwwzeﬁ ;E‘jjg ; TEL(03)3815-8731 ¢
ELE % AT TEL(0249)23-7744f%  FomasEsT TEL(03)3814-27 14 & B 3 BT TEL(0592)24-86451% 2 f'g g = ;ﬁ TEL(osnig:_g?ggQ % g\vgv ‘/PF
.............................. A i DR T TN an - _ X
AP R TeL(zenal sl BUREFN TEL(049)261-2721%  Sicigdian TEL(08) 643100070 ARl E T TEL(0899)31-1586f kR gy CL(U7BII0ISEAIK
SHEUEM TEL(0286)62-14311% B g‘ﬁg = TELEM; 52'31352"*. SEBE ¥ P TEL(075)801-7328f8  dLAJHEHAT TEL(093)581-47224%

B E AT TEL(0273)26-3955¢¢ oA MR E TELONIMIBAIAMN sy = Te(018)577-43261C M E HH TEL(092)431-0061 %

L e s TEL(0425)84-17111% BRI EE A TEL(054)237-88501% R % A TEL(0722)21-6665ft  HE R E % A TEL(096)384-I612ft 133-01-335-50



